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CPE 4 -ANNUAL EXAMINATION 
[2021-22] 

SOCIAL SCIENCE 

Max marks- 40 
Exam duration – 2 hours 
 

 

  General Instructions:  
1. This paper is divided into five sections: A, B, C, D and E. All 

questions are compulsory from sections A and B. 
In section C two questions are given, choose any one. In 
section D, four questions are given, choose any 2. 
 Section E is a map-based question and its compulsory to 
attend. 

2. Separate instructions are given with each section and 
question, wherever necessary. Read these instructions very 
carefully and follow them.  
3. The answer scripts should be scanned properly and mailed 
as pdf file at poojatat.tvis@gmail.com 
 

 

 

  
Section A: Multiple Choice Question 

 

 
20*1 =20 
Marks 

1.   On which of the following 
  social problem was a law passed by the British 
to bring reform in Indian society? 

a. Sati 

b. Diversity of Vernacular 

c. Carrying of arms 

d. Following the Judiciary system 

1 
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2.  “He was an Indian soldier working under the 
British Officials and was hanged to death for 
attacking his officers in Barrackpore” Who is 
he? 

a. Bhagat singh 

b. Mangal Pandey 

c. Prithviraj Pandey 

d. Suryaveer Pratap 

1 

3.  __________ continued to fight a guerrilla war 
against the British. 

a. Rani Lakshmibai 

b. Tantia Tope 

c. Nana Saheb 

d. Peshwa Baji Rao  

1 

4.  The Sepoy Mutiny of 1857 was led by – 
a. Mir Zafar 

b. Bahadur Shah Zafar 

c. Bhakt Khan 

d. Nana Saheb 

1 

5.  In what way did the Christian missionaries 
help the British East India Company? From 
the statements given below, choose the one 
that is not TRUE with respect to the 
missionaries. 
 
(a) The Christian missionaries functioned 
freely and even owned land and property. 
 
(b) The Christian missionaries did not 
encourage education of women. 
 
(c) An Indian converted to Christianity could 
inherit the property of ancestors 

1 
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(d) The Christian missionaries converted the 
people as Christians 

6.  Which of the following achievements of the 
Moderates cannot be considered true? 

a. The moderates helped in removing social 

in justices like the rigid caste system that 

existed in India. 

b. Due to the continuous efforts of them, the 

people of India understood the 

importance of independence, nationalism, 

and democracy. 

c. The moderates created a sense of 

National Consciousness 

d. The moderates changed the policies of the 

British and brought an end to the British 

rule in India. 

 

1 

7.  Who said “Freedom is our birth right”? 
a. Bal Gangadhar Tilak 

b. Sarojini Naidu 

c. Bepin Chandra Pal 

d. Lala Lajpat Rai 

1 

8.  Who had initiated the partition of Bengal? 
a. Lord Murray 

b. Lord Curzon 

c. Lord Williams 

d. Lord Canning 

 

1 

9.  A list of leaders is given below, identify the 
leader who is not considered as a Radical but a 
Moderate. 

1 
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(a) Bipin Chandra Pal 
(b) Surendranath Banerjee 
(c) Bal Gangadhar Tilak 
(d) Lala Lajpat Rai 

10.  Name the movement launched following the 
Partition of Bengal. 
(a) Quit India Movement 
(b) Salt Satyagraha 
(c) Swadeshi Movement 
(d) First war of Independence 

1 

11.  Which of the following is a secondary activity? 
(a) Coal mining industry 
(b) Tourism  
(c) Fishing 
(d) Agriculture 

1 

12.  With limited capital, a food processing unit is 
set up in a particular village in Gujarat. This unit 
generates employment to that particular 
village. Name the type of classification of 
industry under which this food processing unit 
will come under. 
 
(a) Forest based industry 
(b) Agro based industry 
(c) Small Scale industry 
(d) Large Scale industry 

1 

13.  The leading industries of Bajaj Group, Birla 
group Reliance, Tata Group of industries belong 
to the private sector. What are the 
characteristic features of these industries? 
(a) Jointly owned, they are owned, managed 
and controlled by a group of individuals and 
government agencies.  
 
(b) Operated mainly for the benefit of the 

1 
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public rather than profits, they are owned, 
managed and controlled by a group of 
individuals. 
 
(c) Operated mainly for Profits, they are owned, 
managed and controlled by a group of 
individuals. 
 
(d) Members of the cooperative society 
produce the raw material and add value to earn 
profit.  

14.  What does an industrial system consist of? 
(a) Inputs 
(b) Processes 
(c) Output 
(d) All of these 

1 

15.  To which category of industry (based on raw 
materials) does Iron made from iron ore belong 
to? 
(a) Marine based 
(b) Forest based 
(c) Agro based 
(d) Mineral based 

1 

16.  What is the system consisting of courts which 
interpret the constitution and award 
judgement? 
(a) Judiciary 
(b) Parliament 
(c) Police 
(d) Legislative 

1 

17.  What type of cases are decided under Civil Law? 
(a) Divorce 
(b) Rent matters 
(c) Sale of land 
(d) All the above 

1 
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18.  Stereotyping of Adivasis is related to their 
being: 
(a) Exotic 
(b) Primitive 
(c) Backward 
(d) All the above 

1 

19.  What literally means the original inhabitants? 
(a) Adivasis 
(b) Minorities 
(c) Ghetto 
(d) Devoid 

1 

20.  The minorities are forced to live on the margins 
of economic and social development, this is 
known as 

(i) malnourished 
(ii) marginalisation 
(iii) displaced 
(iv) all of these 

 

1 

 Section B: Answer the following questions 
within 25 to 30 words. 

2*2=4 
Marks 

21.  Why did the Sepoys refuse to accept the new 
cartridges introduced by the Britishers? 

2 
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22.  

 
 
 
Study the above picture and answer the 
following questions: 

a. Which branch of law is applicable here . 

Define the above-mentioned branch of 

law. 

2 

 Section C: Answer any one of the following 
questions within 60 words 

1*3=3 
Marks 

23.A. 
 

Define Minority. 
Write one measure taken by the government of 
India to protect the Minorities. 
 
 
 
 
 

3 
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23.B.  
 

 
 
 
 
 
 
 
 
 
 
 
Refer to the above picture and answer the 
following questions: 

a. “The adivasis are marginalised in India.” 

Justify the statement. 

b. In what ways are we stereotyping the 

adivasis? 

3 

 Section D: Answer any two of the following 
questions 

2*5=10 

24. Industries can be classified on the basis of 
ownership, explain. 
 

5 

25. Describe the Industrial System with the help of 
a suitable example. 
 

5 

26. Write a short note on Dandi March. 
 

5 

27. What were the initial demands of the Indian 
National Congress from the British 
government? 
 

5 
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28. Section E: From the given Map of India, 
identify and name the following: 

1*3=3 

 

 
 

a. In the given map of India, locate and mark 

one state where the Adivasis dwelled. 

b. Mark two industrial regions of India. 
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